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QUESTION 1 
Which hardware is required to support Fibre Channel storage? 
 
A. ISCSI adapter 
B. HBA 
C. CNA 
D. NIC 
 
Correct Answer: B 
 
 
QUESTION 2 
Which hypetvisor is a type-1 hypervisor? 
 
A. Oracle VM VirtualBox 
B. VMware ESXi 
C. VMware Fusion 
D. VMware Workstation 
 
Correct Answer: B 
 
 
QUESTION 3 
Which configuration setting ensures that virtual networks on a virtual switch are isolated from 
each other? 
 
A. Port ID 
B. Network Label 
C. Security Policy 
D. VLAN ID 
 
Correct Answer: A 
 
 
QUESTION 4 
Refer to the exhibit. Which piece of information should a vSphere operator conclude about iSCSI-
01? 
 

 
 
A. The datastore failed because it reached its capacity limit. 
B. The datastore does not have any free capacity. 
C. The disk usage on the datastore is above 75%. 
D. The datastore usage on disk was reset to green. 
Correct Answer: C 
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QUESTION 5 
Which feature must be enabled to use vSphere Fault Tolerance? 
 
A. vSphere DRS 
B. vSphere Replication 
C. vSphere HA 
D. vSAN 
 
Correct Answer: C 
 
 
QUESTION 6 
Which DRS score indicates that the virtual machine (VM) is experiencing severe resource 
contention? 
 
A. 50% 
B. 95% 
C. 70% 
D. 15% 
 
Correct Answer: D 
 
 
QUESTION 7 
A vSphere operator can only configure up to two virtual CPUs when deploying a new virtual 
machine (VM). Refer to the exhibit. What is the cause erf this situation? 
 

 
 
A. VMs support a maximum of 2 CPUs. 
B. The selected cluster is not in DRS mode. 
C. The selected ESXI host has only 2 CPUs. 
D. The compatibility selected is "ESXi6.5 and later". 
 
Correct Answer: C 
 
 
QUESTION 8 
An administrator needs to separate traffic of virtual machine live migrations from all other traffic. 
Which TCP/IP stack meets this requirement? 
 
A. Fault Tolerance logging TCP/IP stack 
B. Provisioning TCP/IP stack 
C. vMotion TCP/IP stack 
D. Management TCP/IP stack 
 
Correct Answer: C 
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QUESTION 9 
An administrator would like to add a new server into an existing vSphere cluster. The servers are 
running Intel processors. The administrator needs to ensure that the new server can be added to 
the cluster with the same processor baseline as the existing servers. Which strategy should be 
used to achieve this goal? 
 
A. Fault Tolerance 
B. Enhanced vMotion Compatibility 
C. vSphere vMotion 
D. vSphere High Availability 
 
Correct Answer: B 
 
 
QUESTION 10 
Which vSphere feature protects against host hardware failures by restarting virtual machines 
(VMs) on hosts that are running in the cluster? 
 
A. vSphere HA 
B. vSphere vMotion 
C. vSphere Fault Tolerance 
D. vSphere DRS 
 
Correct Answer: A 
 
 
QUESTION 11 
Refer to the exhibit. Which statement Is true about the access privileges of User 2? 
 

 
 
A. User 2 has virtual machine power user privileges to Prod04-3. 
B. User 2 has no access to all objects in the Production folder and Test and Dev folder. 
C. User 2 has virtual machine power user privileges to all VMs In the Production folder. 
D. User 2 has access to all objects in the Production folder and no access to Dev01, Dev02, and 

Dev03. 
 
Correct Answer: A 
 
 
QUESTION 12 
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